25000

20000

PADME Internal

nPOT=9.3x10°

¢ data July 2019

—— MC 20k e*/bunch on target

Data/MC

A
\
\

15000

10000

5000

|_\
|

800 1000 1200
E(y )+E(y ) [MeV]

=
o
AR
o
N
o_
o.
N
o
o
(o))
o
o



Data/MC

3000

PADME Internal ¢ data July 2019

2500 —— MC 20k e*/bunch on target

nPOT=9.3x10°

A

2000

1500

1000

500

=

800 1000 1200
E(y )+E(y ) [MeV]

=
o
AR
o
N
o_
o.
N
o
o
(o))
o
o



Data/MC

2000

1800 PADME Internal ¢ data July 2019

—— MC 20k e*/bunch on target

nPOT=9.3x10°

1600

1400

1200

1000

800

600

400

200

=
o

=

600 800 1000 1200
E(y J+E(y,) [MeV]

=
o
AR
o
ol
oL
o
N
o
o



Data/MC

1200

1000

800

600

400

200

=

=
o
i
o

PADME Internal

nPOT=9.3x10°

¢ data July 2019

—— MC 20k e*/bunch on target

600 800 1200

E(y )+E(y,) [MeV]



Data/MC

2000

1800

1600

1400

1200

1000

800

600

400

200

=
o

=

=
o
AR
o
ol
o_
o.
N
o
o

PADME Internal ®

nPOT=9.3x10°

—— MC 20k e*/bunch on target

data July 2019

600

800 1000 1200
E(y )+E(y ) [MeV]



Data/MC

1800 PADME Internal ¢ data July 2019

1600 —— MC 20k e*/bunch on target

nPOT=9.3x10°

1400

1200

1000

800

600

400

200

=
o

=

600 800 1000 1200
E(y )+E(y ) [MeV]

=
o
AR
o
ol
o_
o.
N
o
o



Data/MC

1200

1000

800

600

400

200

=

=
o
AR
o
N
o_
o.
N
o
o
(o))
o
o

PADME Internal ¢ data July 2019
—— MC 20k e*/bunch on target

nPOT=9.3x10°

800 1000 1200
E(y )+E(y ) [MeV]



Data/MC

1200

1000

800

600

=

PADME Internal

nPOT=9.3x10°

¢ data July 2019

—— MC 20k e*/bunch on target

=
o
AR
o
N
o_
o.
N
o
o
(o))
o
o

800 1000 1200
E(y )+E(y ) [MeV]



Data/MC

1200

1000

800

600

400

200

PADME Internal ¢ data July 2019
—— MC 20k e*/bunch on target

nPOT=9.3x10°

0
10
1 : il
L "':::::::::f::::.:::::::::::::::::::::::::::.::'."::.::: . :::f::::.::::.:::::i::::.:::.:::f::
107 200 400 600 800 1000 1200

E(y )+E(y,) [MeV]



Data/MC

1200

1000

800

600

400

200

=

=
o
i
o

PADME Internal ¢ data July 2019

— MC 20k e*/bunch on target
nPOT=9.3x10’ J

200 400 600 800 1000 1200
E(y )+E(y ) [MeV]




Data/MC

2000

1800

1600

1400

1200

1000

800

600

400

200

=
o

=

=
o
AR
o
N
o
o
N
o
o

PADME Internal ¢ data July 2019
—— MC 20k e*/bunch on target

nPOT=9.3x10°

600 800 1000 1200
E(y )+E(y ) [MeV]



Data/MC

2000

1800 PADME Internal ¢ data July 2019

—— MC 20k e*/bunch on target

nPOT=9.3x10°

1600

1400

1200

1000

800

600

400

200

=
o

=

800 1000 1200
E(y )+E(y ) [MeV]

=
o
AR
o
N
o_
o.
N
o
o
(o))
o
o



Data/MC

1800
PADME Internal ¢ data July 2019

1600 +
—— MC 20k e '/bunch on target

nPOT=9.3x10°

1400

1200

1000

800

600

400

200

=
o

=

600 800 1000 1200
E(y )+E(y ) [MeV]

=
o
AR
o
ol
o_
o.
N
o
o



Data/MC

2000 PADME Internal ¢ data July 2019

1800 —— MC 20k e*/bunch on target

nPOT=9.3x10°

1600

1400

1200

1000

800

600

400

200

=
o

=
[

800 1000 1200
E(y )+E(y ) [MeV]

=
o
AR
o
N
o_
o.
N
o
o
(o))
o
o



Data/MC

2000 PADME Internal ¢ data uly 2019

1800 —— MC 20k e*/bunch on target

nPOT=9.3x10°

1600

1400

1200

1000

800

600

400

200

=
o

=

600 800 1000 1200
E(y J+E(y,) [MeV]

=
o
AR
o
ol
o_
o.
N
o
o



Data/MC

1600 PADME Internal ¢ data July 2019

1600 —— MC 20k e*/bunch on target

nPOT=9.3x10°

1400

1200

1000

800

600

400

200

=
o

=

'800 1000 1200
E(y )+E(y ) [MeV]

=
o
AR
o
N
o_
o.
N
o
o
(o))
o
o



Data/MC

3500

3000

2500

2000

1500

1000

500

=

=
o
i
o

PADME Internal

nPOT=9.3x10°

¢ data July 2019

—— MC 20k e*/bunch on target

800 1000 1200
E(y )+E(y ) [MeV]



Data/MC

16000

14000

12000

10000

8000

6000

4000

2000

=
o
i
o

PADME Internal

nPOT=9.3x10°

¢ data July 2019

—— MC 20k e*/bunch on target

=
[

800 1000 1200
E(y )+E(y ) [MeV]



Data/MC

2200

2000 PADME Internal ¢ data July 2019

1800 —— MC 20k e*/bunch on target

nPOT=9.3x10°

1600

1400

1200

1000

800

600

400

200

=
o

=

800 1000 1200
E(y )+E(y ) [MeV]

=
o
AR
o
N
ot
o -
N
o
o
(o))
o
o



Data/MC

2000

1800 PADME Internal ¢ data July 2019

—— MC 20k e*/bunch on target

nPOT=9.3x10°

1600

1400

1200

1000

800

600

400

200

=
o

=

600 800 1000 1200
E(y )+E(y ) [MeV]

=
o
AR
o
ol
o_
o.
N
o
o



Data/MC

1200 PADME Internal ¢ data July 2019

— MC 20k e*/bunch on target
nPOT=9.3x10’ J

1000

=

600 800 1000 1200
E(y J*E(Y,) [MeV]

=
o
AR
o
ol
oL
o.
N
o
o



Data/MC

2000 PADME Internal ¢ data July 2019

1800 —— MC 20k e*/bunch on target

nPOT=9.3x10°

1600

1400

1200

1000

800

600

400

200

=
o

=

1000 1200
E(y )+E(y ) [MeV]

=
o
i
o
N
o
o
_p-
ok
o
o))
o
o
ol
ol
o



Data/MC

1800 PADME Internal ¢ data July 2019

1600 —— MC 20k e*/bunch on target

nPOT=9.3x10°

1400

1200

1000

800

600

400

200

=
o

=

800 1000 1200
E(y )+E(y ) [MeV]

=
o
AR
o
N
o_
o.
N
o
o
(o))
o
o



Data/MC

1200

1000

800

600

400

200

=

=
o
i
o

PADME Internal

nPOT=9.3x10°

¢ data July 2019

—— MC 20k e*/bunch on target

800 1000 1200
E(y )+E(y ) [MeV]



Data/MC

1200

1000

800

600

400

200

=

=
o
i
o

PADME Internal

nPOT=9.3x10°

¢ data July 2019

—— MC 20k e*/bunch on target

200 400

800 1000 1200
E(y )+E(y ) [MeV]



Data/MC

1200

1000

800

600

400

=

PADME Internal

nPOT=9.3x10°

¢ data July 2019

—— MC 20k e*/bunch on target

=
o
AR
o
N
o_
o.
N
o
o
(o))
o
o

800 1000 1200
E(y )+E(y ) [MeV]



Data/MC

1200 PADME Internal ¢ data July 2019

— MC 20k e*/bunch on target
nPOT=9.3x10’ J

1000
800

600

400

|_\
IIIII| I

-------------------------------

800 1000 1200
E(y )+E(y ) [MeV]

=
o
AR
o
N
o_
o.
N
o
o
(o))
o
o



Data/MC

2000

1800 PADME Internal ¢ data July 2019

—— MC 20k e*/bunch on target

nPOT=9.3x10°

1600

1400

1200

1000

800

600

400

200

=
o

=

800 1000 1200
E(y )+E(y ) [MeV]

=
o
AR
o
N
o_
o.
N
o
o
(o))
o
o



Data/MC

2000

1800 PADME Internal ¢ data July 2019

—— MC 20k e*/bunch on target

nPOT=9.3x10°

1600

1400

1200

1000

800

600

400

200

=
o

=

800 1000 1200
E(y )+E(y ) [MeV]

=
o
AR
o
N
o_
o.
N
o
o
(o))
o
o



Data/MC

1800
PADME Internal ¢ data July 2019

1600 +
—— MC 20k e '/bunch on target

nPOT=9.3x10°

1400

1200

1000

800

600

400

200

=
o

=

600 800 1000 1200
E(y )+E(y ) [MeV]

=
o
AR
o
ol
o_
o.
N
o
o



Data/MC

2000

1800

1600

1400

1200

1000

800

600

400

200

=
o

=
[

=
o
AR
o
N
o_
o.
N
o
o
(o))
o
o

PADME Internal ¢ data July 2019
—— MC 20k e*/bunch on target

nPOT=9.3x10°

800 1000 1200
E(y )+E(y ) [MeV]



Data/MC

2000

1800

1600

1400

1200

1000

800

600

400

200

=
o

=
o
i
o

PADME Internal ¢ data July 2019
—— MC 20k e*/bunch on target

nPOT=9.3x10°

=

200 400 600 800 1000
E(y )+E(y ) [MeV]

1200



Data/MC

1600 PADME Internal ¢ data July 2019

1600 —— MC 20k e*/bunch on target

nPOT=9.3x10°

1400

1200

1000

800

600

400

200

=
o

=

L]
) , L~ Nl
B : "1l - Al|pg
- A . A -|-4 -|
pa— - N | I
+ L L 1 L L L 1 L L L 1 L 1 L

600 800 1000 1200
E(y )+E(y ) [MeV]

=
o
AR
o
N
o
o
N
o
o



Data/MC

2200

PADME Internal ¢ data July 2019
2000

—— MC 20k e*/bunch on target

1800 nPOT=9.3x10°

1600

4
1400 “
1200 '

®
1000
800
600
400

200

=
o

=

600 800 1000 1200
E(y )+E(y ) [MeV]

=
o
AR
o
ol
o_
o.
N
o
o



PADME Internal ¢ data July 2019
30000

— MC 20k e*/bunch on target
nPOT=9.3x10’ J

25000
20000
15000
10000

5000

0 1 1 1 | 1 1 1 | | I 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 11 1 |

=

Data/MC

[MeV?]



Data/MC

18000

16000

14000

12000

10000

8000

6000

PADME Internal ¢ data July 2019

— MC 20k e*/bunch on target
nPOT=9.3x10’ J

[MeV?]



Data/MC

8000

7000

6000

5000

4000

3000

2000

1000

PADME Internal ¢ data July 2019

— MC 20k e*/bunch on target
nPOT=9.3x10’ J

[MeV?]



Data/MC

10000 PADME Internal ¢ data July 2019

— MC 20k e*/bunch on target
nPOT=9.3x10’ J

8000

6000

4000

2000

£II|III|III|III|III|I

0 1 1 1 | 1 1 1 | | I 1 1 1 | 1 1 1 | 1 1 1 | | 11 11 1 |

[MeV?]



Data/MC

700 PADME Internal ® data July 2019

—— MC 20k e*/bunch on target

500 nPOT=9.3x10°

500

400

300

==

200

100

0 | 1 1 1 | | I 1 1 1 | 1 1 1 | 1 1 1 | | | 11 11 1 |

[MeV?]



Data/MC

500

400

300

200

100

PADME Internal

nPOT=9.3x10°

¢ data July 2019

—— MC 20k e*/bunch on target

o

[MeV?]



Data/MC

1200
PADME Internal ¢ data July 2019

1000 —— MC 20k e*/bunch on target

nPOT=9.3x10°

800

600

400

200

0 1 1 1 | 1 1 1 | | I 1 1 1 | 1 1 1 | 1 1 1 | | |




Data/MC

800

700

600

500

400

300

PADME Internal

nPOT=9.3x10°

¢ data July 2019

—— MC 20k e*/bunch on target

[MeV?]



Data/MC

10

10

10*

10

10°

10

=

=
o
i

PADME

nPOT=9

Internal ¢ data July 2019
—— MC 20k e*/bunch on target




Data/MC

=

=
o
i

PADME Internal

nPQT=9.3x10°

¢ data July 2019

—— MC 20k e*/bunch on target




Data/MC

50000

[ PADME Internal ¢ data July 2019
- 9 —— MC 20k e*/bunch on target
s nPOT=9.3x10 J
40000 —
30000 —
20000 —
10000 [—

o/\h—

=

=
o
i
o

500 1000 1500 2000 2500 3000
E [MeV]



Data/MC

9000

8000

7000

6000

5000

4000

3000

2000

1000

H
- o

=
o
i
o

PADME Internal ¢ data July 2019

nPOT=9.3x10°
e
K S

—— MC 20k e*/bunch on target

II|IIII|IIII|IIII|IIII|IIH|IIII|IIII|IIII|II

500 1000 1500 2000 2500 3000
E [MeV]



Data/MC

800

700

600

500

400

300

200

100

=

X

10

PADME Internal

nPOT=9.3x10°

@
||||||||||"

¢ data July 2019

—— MC 20k e*/bunch on target

=
o
i
o
a1
=
o
=
o1
N
o

30 35 40 45 50
N hits in cl



Data/MC

70000
PADME Internal ¢ data July 2019

60000 —— MC 20k e*/bunch on target

o NPOT=9.3x10°

o0
50000

40000
30000
20000

10000

0 11 1 11 1 1 11 1 | 1 1 1 | 1 1 1 | | I 1 1 1 |

=

=
o
i



Data/MC

70000
PADME Internal ¢ data July 2019

60000 —— MC 20k e*/bunch on target

o NPOT=9.3x10°

o0
50000

40000
30000
20000

10000

0 11 1 11 1 1 11 1 | 1 1 1 | 1 1 1 | | I 1 1 1 |

=

=
o
i



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49


